SM3

Section 4.2 Dividing Polynomials
Divide Using Long Division

1) (20° + 9n* = 23n - 30) + (2n - 5)

3) (187 + 54r% + 287 — 16) + (61 + 8)

5) (2% =9 + 271 = 70) = (21 - 7)

7) (32x® - 20x% - 41x - 13) + (8x + 5)

Name

Date Period

2) (814% + 45k% - 105k +27) + (9% - 3)

4) (5v® - 25v2 - 20v + 100) = (5v + 10)

6) (50m> + 15m* — 79m - 34) + (5m + 6)

8) (9p* +47p +21p* - 139p + 80) = (9p - 7)



Divide Using Synthetic Division

9) (n® + n* =370° =220 =570+ 54) = (n - 6)

11) G° +4x* -9 - 17) + (x + 5)

13) (VS ~5vt-Tv+ 44) + (v - 5)

15) (2n* = 157 + 261 = 570 + 46) + (n - 6)

10) (n* + 14n° + 58n% + 751 - 40) = (n + 8)

12) (p° -10p* + p*> - 10p - 9) + (p - 10)

14) (ms +m? = 53m + 27) + (m + 8)

16) (p° -3p* +10p-35) + (p-3)
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Divide Using Synthetic Division
9) (n5 +n* -3 -22n* -57n + 54) + (n - 6) 10) (n4 +14n° + 58n% + 75n - 40) + (n + 8)
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